Efficiency vs Dxy(PV)
;0.05

% 045
3
S 0.04
>
$.035
3
£0.03
g
®.025
0.02
0.015]
0.01
0.005

R

Ratio

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__CKF_ORIG
—— DQM_TT__CKFandPLess_ORIG
[Efficienc]| —— DQM_TT__CKFandPLess_MODIF

<0.05g

L

RS
‘MWWW\WWMW

e

T

i

WWWWWNWWWHW
TR
WL
(A NEIGIEATR |

“21-0.8-0.6-0. 0.2 0608 1
TP dxy PV) (cm)

Efficiency vs Dz(PV)
90.05
%.045
o
20.04]
>
.035
2
(%)
£0.03
9]

0.025

0.02

0.015

0.0%

0.005

1.0

Ratio

P+

!

10 20 30
TP dz(PV) (cm)

0.95

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


